Doporucena uloha ¢.19 (Zajicek)

mln?2

2

Dokaite,ie/ln(sin x)dr = —

x =2t jln(sin(Zt))Z dt

sin(2t) = 2 xsint * cost = In(sin(2t)) = In2 + In(sint) + In(cost)

- 7 3 - 3 ‘
t= 5 U O/IH(COS t)dt = jln (COS (2 — u)> du = /ln(81nu) du
= 2% [In(sin(2t))dt =2 % | [ In2dt + [ In(sin(¢)) dt + [ In(sin(t)) dt
[ [ funienacs |

= 2x {Z In2+ /ln(sin(t))dt =A
0

™

I= jln(sin(t))dt

t= 5 U jln(sin(t)) dt = j— In (sin <72T - u>) du = /gln(cos(u)) du =1

z s

21 = /21 (sin(t) dt+/ln cos(t)) dt = 21 (sin(t) cos(t)) dt

j (Sm ) /ln dt+/lnsm2t (%)

u=2t /21 (sin(2t)) dt = /ln(sin(u)) * ;du = ; * {/21 (sin(u)) du + ]ln(sin(u)) du

:;* I+/ 1 (sin(wv))dv] :;* I+/21n(sin(v))dv} :;*[]Jr[]:[
(*):2[:—0/21n(2)dt+1:>I:—1n(2) :
A=24 {111(2) T (- In) g)] _ wlI;(2) 27r1;1(2) _ _mg(z)



